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gFjp I tpilj;jhs; 

 

01.   

 

 

02. Rw;wsT = 26m 

 

03. &gh. (5x + 3y) 

 

04.   

 

 

 

 

05. 50 - 37 = 13 

 

06. (a) 

 

07.   2012 - 07 - 20 

  - 10 - 04 - 03 

   2002 - 03 - 17  

 

08. 23 a2  

 

09. J}a  

 

10. 1.32 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

11. Xapyu; njhlu;gpD}lhf. 

 

cr;rpfs;  + Kfq;fs; = tpspk;Gfs;  +  2  

(v)            (F)          (E)      

10    +      F       =  17 + 2 

   F       =   9 

 

12. (+ 19) 

 

13. 
5𝑐𝑚

5
 = 4cm 

 

14. 
5

7
  =  

10

14
 

 

15. Kf;Nfhzp AEB  

Kf;Nfhzp BDE  

 

16. 
3

5
 x 100%  =  60% 

 

17. rupahd mikgpw;F (G 2) 

 

18. fdtsT   = ePsk; x mfyk; x cauk; 

cauk;    = 
108𝑐𝑚3

12𝑐𝑚2  = 9cm 

 

19. rupahd mikgpw;F (G 2) 

 

20. 110g x8 = 880g 

 

^xt;nthU tpdhtpw;Fk; 2 Gs;spfs; tPjk;& 
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gFjp II tpilj;jhs; 

01.  (a)  

(i) 15     (G 1) 

(ii) epuiyg; G+uzg;gLj;Jtjw;F  (G 2) 

(iii)  110   (G 2) 

(iv) NghJkhdjy;y  (G 1) 

220 Njitg;gLk; (G 2) 

 

(b) 10 ,dhy; tFgLk; vz; = 720 

      ,yf;fr;Rl;b 3 ,d; klq;fhd vz;fs; = 342" 720 

 6 ,dhy; tFgLk; vz; = 342, 720 

 9 ,dhy; tFgLk; vz; = 342, 720 

  ,ufrpa ,yf;fk; = 720  
^xt;nthU tpilf;Fk; 1 Gs;sp tPjk; 8 Gs;spfs;& 
 

02.   

(i) (G 3) 

(ii) (G 2) 

(iii) (G 3) 

(iv) (G 3) 

 

 

 

 

 

(v) 120o  (G 2) 

 

03.     

(i) mr;Rf;fis rupahff; Fwpg;gjw;F (G 2) 

(ii) Gs;spfisf; Fwpg;gjw;F  

Xd;Wf;F 1 Gs;sp tPjk; (G 6) 

(iii) Rupahd Gs;spfis ,izg;gjw;F (G 1) 

(iv)   

 

 (G 1) 

(v) Y=5 Nky; mike;Js;s ahNjDk; xU Gs;sp 

cjhuzkhf (2,5), (3,5), vd;gd MFk; 

tifapy;  (G 1) 

 

 

04. (a)  

(i) 4m x 4m = 16m2   (G 2) 

(ii) nfhupNlhupd; ePak; = 24m-4m 

 = 20m 

 ∴ nfhupNlhupd; mfyk; =  
40𝑚2

20𝑚
 

     =  2m    (G 2) 

 

(iii) 24m x 10m  

240m2     (G 2)   

 

(b) 

(i) 1 : 200  (G 1) 

(ii) 2cm yd 3cm (G 2) 

(iii) gUk;gbg;glj;jpid rupahf tiujy;  (G 2) 

 

05. (a) 

(i) rkNeu;jfTila 

(ii) epr;rakhf eilngWk; 

(iii) rkNeu;jftw;w 

(iv) epr;rakhf eilngwhj 

(v) vOkhwhf 

^xt;nthU tpilf;Fk; 1 Gs;sp tPjk; 5 Gs;spfs;& 

 

         (b) 

(i)    
60

40
 yPw;wu; 

 

= 1 
1

2
 yPw;wu; my;yJ 

3

2
 yPw;wu; (G 2) 

 

(ii) KOg;gazj;jpw;Fk; nrythd yPw;wu; = 
3

2 
 x 2 yPw;wu;  =  3 yPw;wu; 

gaz Kbtpy; nrythd ngw;Nwhy; =   

5 yPw;wu; -  3 yPw;wu;= 2 yPw;wu; 

 ,jd;gb mNrdpd; $w;W cz;ikahFk;(G 4) 

 

 

 

 

 

06. (a)  

rkr;rPu; mr;R 
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(i) Vf;fu; ( 2 
1

5
  + 1 

1

10
 ) 

 

Vf;fu; 3 
3

10
  (G 3) 

 

(ii) vQ;rpa fhzpapd; msT = ( 5 – 3 
3

10
 ) 

 

       = 1 
7

10
 Vf;fu; (G 2) 

 

(b) 

(i) 
600

5
 x 2  = 240  (G 2) 

 

(ii) 600 + 240 = 840  (G 2) 

 

(iii) &' 400 x 240 = &' 96000 (G 2) 

 

07. (a)  

(i) 54, 36, 18 ngh.fh.ng VNjDk; 
tifapy; fhzy;.  

2   54, 36, 18  

3   27, 18, 9   (G 2) 

3   3, 6, 3 

     1, 2, 1 

 

54, 36, 18 ,d; ngh.fh.ng. = 2x3x3 

       = 18 

ngh.fh.ng = 18MFk;' (G 1) 

(ii) gdpahuk;   = 
54

18
   = 3  (G 1) 

thiog;gok;= 
36

18
   = 2  (G 1) 

ghw;Nrhw;Wf; fl;b = 
18

18
   = 1 (G 1) 

 

 

 

        (b)  

(i) T = 100 + 12 x     (G 3) 

 

 

 

(ii)       T  = 100 + 12 x  

= 100 + 12 x 80 

= 100 + 960 

        = 1060  (G 2) 

 

 

 

 

 

  

 

 

 

 

 

 

 


